SL 1 Sequences Review	    NO CALC!  Name:__________________Hr:____
Foundational:                                                    
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2. (might actually be a calculator use question)
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Moderate: (4 marks each)
4. 
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6. Find the sum of the first 5 terms of Vn if the 3rd term is 15 and the 7th term is 1215, and Vn is….

a. Arithmetic (4 marks)








b. Geometric (4 marks)






High Challenge:
7. 
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MODERATE: 4 points each
THREE: Find the sum of the arithmetic series

17+27+37+.+417

FOUR: The first term of an infinite geometric sequence is 18, while the third term is 8. There are two possible
sequences. Find the sum of each sequence.
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HIGH CHALLENGE

5. The sum of an arithmetic series is 746 after ten terms and 1372 after twenty terms. Find the common difference and
first term of the sequence.
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6. Clara organizes cans in triangular piles, where each fow has one less can than the row below. For example, the
‘pill of 15 cans shown has 5 cans in the bottom rov and 4 cans in the fow above it

@
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©

A pile has 20 cans in the bottom row. Show that the pile contains 210 cass.
@

‘There are 3240 cans in a pile. How many cans are in the boftom row?
@

(@  There are S cans and they are organized in a triangular pile with n cans in the boftom row. Show
that n” +n=25=0.
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FOUNDATIONAL: 6 points each

ONE: Consider the arithmetic sequence 2, 5, 8, 11, ..

@  Finduy.

(b)  Find the value of n so that 1, = 152.

TWO: Find the sum of the infinite geometric series

[4 marks]
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FOUNDATIONAL: 6 Points

1. Consider the infinite geometric series 405 + 270 + 180 +.___
(a)  For this series, find the common ratio, giving your answer as a fraction in its simplest form. ~[1 mark]
(b)  Find the fifteenth term of this series. [2 marks]

(c)  Find the exact value of the sum of the infinite series.  [2 marks]
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2. Each day a runner trains for a 10 km race. On the first day she runs 1000 m, and then increases the distance by
250 m on each subsequent day.

(2)  Onwhich day does she run a distance of 10 km in training?

(b)  What s the total distance she will have run in training by the end of that day? Give your answer
exactly.

Working:

Answers:

@
®

(Total 4 marks)




